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SECTION - A
([ Objective Type Quca&m )

Quecstion Nos. 1 to 80 have &' options out of whic

[
only onc is correct. ‘r’ouévc to mark your sclected_

LE
option on the OMR wer Sheet. Out of 80 questions
you have to atte ny 50 questions. GP 50 x 1 = 50
| v:m since we met last year.,

(A) haven't seen (B) don't sce

anact

oo T—



winy onc 15 correcl. You have to mark your sclcctcﬁl._‘
b=
L=

it

option on the OMR Answer Sheet. Out of 80 questions

you have (o attempt any 50 qu ns. 50 x 1 =50

o
o
I.  T........ him sincc{cht last year.
( haven't seen VOQ (B) don't see

(C) didn't S%Q (D) hadn't seen

‘121-681
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2.  Hewogks hard oe: may pass the exam.

(C] because 0‘

3. Alotof mnm#.....

(A) '-.'."a':.lvg

(C) are

4. chﬂDSE thr rarracs 290 .

&

so that é.{Bj in order

(D) although

.. spent on the function.

(B) was

(D) have
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2.

He works hard ............ mm' pass the cxam.
(A) so that 0 [E] in order

(C) because 0‘ (D) although

A lot of munw ........ +esasse. Spent on the function.
(A) ‘E'-'«'-‘lve ws

(C) arc (D) have

Chonge thr rareams 1 30 _.



(C) are (D) have

4.  Choose the correct indirect E@GT:

He said to me, “Why diw&umc late ?"

\)/(M"Hc asked me x#@had come late.

(B) He askcdé(hy had I come late.

(C) He E@mc why did | come late.

(D} He asked me why I came late.

5. She d— -



6.

(D) He asked me why I came Ia&

—
(A] go b@ (B) goes l
(C) going oﬁ (D) gone
)
The more hé%.s. the ....veeerecerernes. he spends



(C) are (D) have

4. ose the correct indirect Sp of :

\:j@d 10 me, *Why did ‘u:!cnmc late ?"

(A} He asked me w‘@had come late.

(B) He askcdéﬂhy had I come late,

(C) He E# me why did | come late.

(D} He asked me why I came late.

5' Shc FRAE AR SRR e s s o I‘I""I ﬂ'f‘l‘lﬁ.ﬂ.‘ P N -



(C) are (D) have

9. Choose the correct indirecct s hof:

He said to me, *“Why di@ﬁ come late ?"

\)/yn"Hc asked me yﬁﬁlhad come late.

(B) He askcd@ why had I come late.

(C) He a@ me why did [ come late.

(D} He asked me why I came late.



9.  She........u........ to school everyday,

(A) go (B @:es

(C) going 8] gone

\/ The more he cams&g

(A) much

(C) rnn::rmvQ

HLF(12)-681

... he spends,
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. He is s0 weak thar %gmnnl walk ..ooveveereen. five

minutes, 0
*0

(A)  since 00 (B) Aar
(Ch withj } during

s. Q
Choose The correct passive voice of : “They are watching



(A) since (B) for

(Cl within @ during

8. Choose the correct pas{itg'oi:c of : “They are watching

%ﬁc.' QQ
P\
(Al A movie Isoached by them
% A mc&@? being watched by them

(C) A ﬁﬁc was watched by them

(D) A movie has been watched by them



(A)] =since (B} for

(C} within @ during

S‘I
Choose the correct pass:@vmcc of : “They are watching

e S
o

/_ vie was watched by them

(D) A movie has been w atched by them
7



(C) Lazy (D) Quiet

10. Neither Ramesh nor Sumsh°¢ present.

)

(A) are ~eL@f is
(C) were o,b'SQ (D) be

11. Idon' knnuav he is coming.

(A) as 0 (B) whether

(C) what @L:__—T-_btcausc



(C) Lazy (D) Quiet
10. Neither Ramesh nor Sumsh°,¢ present.
O

(A) are 0‘. B) is
(C) were 00‘0 (D) be

11,/ I don't Imt:ln.'l.ev he is coming.

—_—

(A) as 0 (B) whether

(C) what [Q]:Tﬂ_btcausc



(C) Lazy (D) Quiet

10. Neither Ramesh nor Surcsho& present.
@)
(A) are 0&‘ B) is
Q .
(C) were 'b‘ (D) be
vCo

11,/ I don't Imuw@...........

Q ..... he 1s coming.
—_—
w as O \J%:;

(C) what (D) -because
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No soconer had | reached the st@'l T — 1

train left. ‘.
(A} when ‘Q (3)  but
J than 000 (D) then N
13, 1M1 ... vbz you, | would not have made that &
mistake. ;

(A) was (B) am




(C) than (D) then

/. ] G A — you, | wuu@ﬂ have made that

(D) had been
e’

14. He spoke 5&1]3' that 1 could ................. hear him,

(A) hardly (B) nearly

wilf



mistake. &
O

(A) was B) am
0‘(

(C) were 0 (D}  hnd been
14. He spoke so sn@hnl lieptild sy hear him.
(A) hnrdl_\$ (B) nearly
(C) hard (D) Dbarely

B T T BT B



14/ He spoke &ﬁly that 1 could

(C) than (D) then

...................... yvou, | wmu@mt have made that

(C) were Qv (D) hind been

................. hear him.

Mnﬂl}- (B) nearly

sy | S |



(C) hard (D) barely E

15. Choose the correct Active vni@ : "The letter wn,ﬂﬂﬁm_,%

t b
e SN :
-

wrnitten by her.” *o -

(A) She was writing %%ucr
(B) She writes vmcucr

S

She wrot€ the letter

(D) She had written the letter



o O
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1 Choose the correct Passive vefte of ey will complete

the work by tomorrow.”

‘o
(Al The work will Cl&{fd by them through
INOrrow C¢

The work wj » completed by tomorrow

(C] The \\@as completed by tomorrow

(D) The work has been completed by them tomorrow

17. Heis .......... .

cireneae... RONESL MAN.



(C) The work was completed by tomorrow
(D) The work has DECWIHH tomorrow
17. Heis oo onest m
o
(Al & Q the

18. The cat is hiding%Q)~........... the table.

(D)  nonc of these

(A) au ve (B] wunder
(C] in (D) on

19. He jumped ..................... the river.




’ (C) The work was completed by tomorrow

(D) The work has been completed @em tomorrow

17. Heis Srrsesisiine..... NONESL M o
(]
(A) &« é the
> 0
@ 0 none of these
. The cat s hrd:r:bvo . the table,
(A) at v@ under
(C) in (D) on

19. Hejumped ..................... the river.




18. The cat is hiding .................. the table.
(A) at (B) u.@
(C) in (D)
‘o
Sadinn wwt‘:f.
(B) onto
(D) on
20. You v respect your clders.

/} can (B) must



18. The cat is hiding .................. the table.

(A) at

(B) wund
(C) in (D) @&

(]
19. He jumped ..................... th ‘cr.
‘0
{A) into 0 (B) onto

(C) in z@ (D) on
)

20. You .....cocovunins v respecl your elders.

(A) can (B ust

[ f i R TI =11 ' minh:
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21,/ He ..., speak English fluently. &
(A) ought (B) uaeoo
(]

(C) must
22. Wait here .....................

(A) and (B)

: e
| -
(C) while (D] because x
23. Choose the synonym of 'hbeg/ l
i,




(A)] and (B) till

(€1, while (D) because Q
23. Choose the synonym of ‘Abandon’: 00

Keep e é )

(A)

(A) Kind (B) Helpful

(C) Selfish (D) Polite

LASS-X|
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3 W o [ O speak English fluently. @
(A) ought (B) uy:oo
‘o
(€) fay

(C) while (D) because

23. Choose the synonym of ‘Abandon’ :




(A) and

(C) while

(A) Keep
Leave

24, Choose the anton

hoose the synonym of ‘Abandon’: o

(B) till

(D) because

&
{Bb@‘:;lrny
B wi

o ) ide

yn@n:mus‘ :

/ (A) Kind v (B) Helpful

(C) Selfish

(D) Polite

LASS-XI



(A) and

(C) while

(A) Keep

Leave

(B) tll

(D) hmuac&

hoose the synonym of ‘Abandon’ ; 00

{BbG‘e;tmy

.
oﬁj Wide
0

24. Choose the antunyn&:n:mus’ :

/ (A) Kind v

/}{ Selfish

(B) Helpful

(D) Polite

LASS-X]



(C) Selfish (D) Polite

the correct sentence ,.-"" °®

(A) The sceneries here is btﬂutlfll"

(B) The scenery here are b*&

The scenery here j utll'ul

S

(D) The sccn:ri:uﬂrc are bcnuﬁfu];_

25.
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26. Choosc the correct Indirect speech nfe

I said to him, *"Where arc you gui&

Wﬂ:m was G&l;ing.

\yuﬂked him whcr@was going,
(C) 11told him wl@)’ou are going,.

(D) 1asked &wh:rc he is going.

27. Chaose the correct Direct speech of :

Rahul said that he liked basketball.



(D) 1asked him wherc he is going.
27. Choose the correct Direct spcccw:
Rahul said that he liked has&aﬂ.
o
(A) Rahul said, “He 1i|6¢§askcthau.-
Rahul said, * ‘d basketball,”
(C} Rahul 'alilﬂ: basketball.”
(D) Rahul 52. “I was liking basketball.”

28. Choose the synonym of ‘Briel":

s

IL I~

=i



(C) Rahul said, *I like basketball.”

(D) Rahul said, *T was liking bask "

28. Choose the synonym of Briel’ 00

(A) ng QQB] Quick
Jéhurt oo (D) Late
0
29. Choose th:b"&'m of 'Enormous’:

(A) Tiny (B) Long

// (C) Huge (D} Fast




(C) Rahul said, *I like basketball.”
(D) Rahul said, “l was liking basketifhll.”

28. Choose the synonym of Briel :0

*o
(A) Long ‘qua] Quick

hort 00 (D) Late
0

Choose the an m of ‘Enormous’:

/\}wﬁny (B) Long

(C) Huge (D) Fast



30. The news ..................... was broadcast last m:ght was

&

‘ 92} who

()
@

31. Choose the cmtpspc!lmg :

(A) Re:cité-av (B] Receve
(C) E&v: (D) Recenve

32. Choose the correct spelling :

(D) whom

(A} leumprevement (Bl Improvement
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30. The necws was broadcast last muight was

.....................

shocking. °®

hich .C’IE] who

4 ¢ o .

) when ‘@ (D) whos
Choose the cu@spcmng :

(A) Rﬂi:‘&v Bl R

(C) Ra?vc eREne

Choose the correct spelling :

(A) Teumprevement (B I[mprovement



31. Choose the correct spelling :

(A) Recieve (B) _ Recewe

ove § Receive
O

gose the correct sp e:

C) R

32

Impr

(A) lf:l.,t:'ﬂ[:n:'ur_"'.:u::1'1:'u.':*ﬁ0

(C) Empm@:: (D) Empreausient

The s@must come s00n ............... the patgnat

will die.

(A) nor (B] unless




31. Choose the correct spelling
(A} Recieve (B) Receve
(C}] Receeve Receive

32 Choosc the correct spellﬁg:

(A) I:umpr:t:mc (Bl [improvement
Emprov #? (D) Empreaument
33. The surg must come scon ......... . the --"zmt
oy
will dtt.°
(A) nor (B nless

Il artherties ™ rirmead




nor (B} uriless

therwise [D!; until

he guests have come, ... O.......... ?
9

(A) en't they @‘. (B) can' they
haven't Lhmé (D)  shouldnt they
35. A new chm@ s - the charge.
ta@ off (B) taken over

(C) take off (D) take into



nor (B] usnless

therwise ( until

0@ (B) can® theyv
\

haven't the 0

(A) en't they
(D) shouldnt theyv
35. A new chai NS oo iiwsiivsinniiminls charge.

(2]
A tal¥Poff

(C) take off (D) take into

taken over



mination
They should duly fill §c cxXa
form. oo
‘o
up [% on
‘0
.. up the door.

37. The lizard crawled Qv

(A) further 06 (B) often

(C) either (D) furthermore

38. We need o ooooooeeiieeeees. furniture.
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......
..............
L]

form. ¢
\_/ = %z‘n
(C) down éD'l with

(i
37. Theli crawled Q@ R up the door.
(B)

/ further v@

(C) either - (D furthermore

35" w:.m-.-u.u.u.u-:-"u"unaa rumimm-




(A) further (B) often

(C)cither o (D) furthermore
38. furmturo
(A) ,any more O < many
\./htﬂc ‘Q[m fewer
39. There was . o tea in the cup.

0
(A) a little 0 (B) few
Q

(C) some little (D) afew

40. A snake was hanging ...........ssseeeee.. his head.



38.

39.

40.

(B) often

(A) further

(C) either .+ (D) furthermore
We need .......ccoecineeiinine I‘urniturb@

(A) any more &0 many

(C) little ‘0 (D) fewer

There was .......... v(:btm in the cup.

(A) a little QQ ) few

(C) some little (D) afew

A snake was hanging .................... his head.




B e e i

(A) a little (B) few

(C) e little (D)

. OO
snake was hanging ..... o A his head.
)
(A) through @‘Q (B) over
(C) of vCO (D) at
3 (e W vﬁea's a cuphnard of his own.
(A) Everything (B) Many

i Bveamoranes fDl MUCh




1. .ccveersrsnseessessesss hBS 8 CUP 1 f his own.

HLF(12)-681
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42.

_/.

44.

c bottle is ....cccvniiiiininnnn. apple juice.
(A) full up (B) @ with
(C) full at Il of
The noise ................... .

(A) dropped out 0@‘ (B) died away

(C) do with Qv (D)

done away
She spcaks&ch fluently, ......ccouu...... P
(A) couldn't she (B} will she
(Cl wouldn't she (M dAaren’t ehs




42.

e bottle 15 .ccvvviniiiinnninaen, apple juice.
(A) full up (B) ﬁ with
(C) full at Il of
The noise .......cccuvneenes ;

)

(A) dropped out

(C) do with éo (D) done away
She spcaks&ch fluently, ................. ?

(A) couldn't she (B) will she

died away

ICl wmildn't ehes m

Arnse't ala-




cbottleis ...covniniinninnnn, apple juice.
(A) full up (B) @wim

(C) full at { Il of

43. The noise ....ueeeeennn...... g
*0
/ (A) dropped out died away
(C) do with zv (D) done away

44¢ She speak$$ch fluently, .....ccccvuevinns ?
(A) couldn't she (B) 1 she
\

(C) wouldn't she doesn’'t she



{A] couldn’t she (B) will she v

(C) wouldn't she (D) doesn’'t she

..... Ratna. @
p scolding

) scolded qu.'l} have scolded
46. Choose the correctl It word :
(A) Comander Qv (B) Comandur
(C) Cummuﬁar (D) Commander i

47. Choose the correct translation of :

ks SR R C i



{A) couldn't she (B) will she

(C) wouldn't she (D) doesn’'t she

Ry

P scolding
‘QQD} have scolded

Choose the correctl It word :

(A) Comander @v (B) Comandur

\ygnmmuﬁ? (D) Commander
47. hoose the correct translation of :

TFAFAAR B ?




(A) Comander (B) Comandur

(C) Commandor (D) mander
49, Choose the correct translation §
[
Cals SR ICE ‘

(A) When you go to s&:ﬂ ?

(B) When do ym@ng to school ?
(C) hen d go school ?

When do you go to school ?
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The students ................... their dinlogugs.
(A} rehearsing B) &enrsing

(C)  will rehearsing

49. Thave .....covvunnnennne, mnni

(A) many Q‘b (B) few

(C) some Qv (D) enough
50. They will nntﬁm‘:. ...................... they ?

(A) don't (B} will

[ gl T — e . wE

K mmgte =

>-X 1§
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48. The students ................... their dinlogucs.

(A) rchearsing B) ub&cnrsing
) will rehearsing. [DKSA rchearsing
99. Thave ............... moncy Quy an expensive car.

IC) some U enough
They will nnl&. they ?

(A) don't (B} will

(C} won't (D} shall




IR N T T ‘-‘ﬂfﬂ‘]bfaan I

48. The students cerrssrniianeeess LHeir dinlopgues.

(A) rehearsing (B) mﬁunrsing

)} will rehearsing (D) rchearsing

49. 1 have mnnc}'&uy an expensive car.

(A) many 00‘ (B] [cw
(C) some v

They will nn&,

(A} don't

(C} won't

S-X 01



53.

Instructions : Question Nos. 51 — 80 are from the

prescribed texts :
Pharoshs were rulers of ancient °®

(A} Russia (B) ‘&ia

Egypt *& Greece

Dr. Zaldr Hussain adv d for the growth of

(A) certain religi v (B) the rich
(C) the whnlcniun (D) the poor

Nanukaka in a linguistic emcrgency always turned to



Instructions : Question Nos. 51 — 80 are from the
prescnbed texts :

Pharoahs were rulers of ancient o@

(A) Russia {B]‘. ia
Egypt Greece
Dr. Zakir Hussain adv I'ur the growth of

(A) certain rl:Ilg:u:iQv (B) the rich
the whﬂlcﬁ.mn (D) the poor

Nanukaka in a linguistic emergency always turned to

Al BEraslich g =] Carmclrmt



52. Dr. Zakir Hussain advocated for the growth of

(A) certain religions (B) Lhr:&

(C) the whole nation (D) ;& poor
a in a linguistic cn&ncy always turned to
English o@‘{B] Sanskrit

(C) Hindi sz (D) Marathi
Q

HLF{12)-681

B v b
h —

J

&

ued
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arch back (B3)

march ahead (D) ﬁ:?n:h hurnedly

@
ian glory is that it 1*@

immovablc OQ[B] uncivilised

(C] movable QQ (D) ignorant

.................... wme prime instrument of naton

building.

(A) Apgriculture (Bl Trade



